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Choose the best answer to the following Multiple-Choice Questions. 

1. If the speed necessary for reaching port at a designated time is 23.7 knots and the pitch of the 
propeller is 20.8 feet, how many revolutions per minute will the shaft have to turn, assuming a 7% 
negative slip? 

A. 124 RPM 
B. 112 RPM 
C. 108 RPM 
D. 116 RPM 
 
Correct answer: C 

2. On 15 October 2023, you will be docking on the Southern Branch Elizabeth River, VA at the second 
high tide. The berth is located between NOAA reference tidal station #8638660 and reference station 
#8639348. What time (LST) will you be docking? See illustration # D063NG. 

A. 2238 
B. 2136 
C. 2132 
D. 2140 
 
Correct answer: B 

3. You depart LAT 49°45.0'N, LONG 06°35.0'W, and steam 3599 miles on course 246.5°T. What is the 
longitude of your arrival by Mercator sailing? 

A. LONG 78°14.0'W 
B. LONG 78°22.6'W 
C. LONG 77°02.8'W 
D. LONG 76°36.2'W 
 
Correct answer: C 

4. While proceeding up a channel on course 010° per gyrocompass, you notice a pair of range lights in 
alignment with the masts of your vessel when viewed forward. A check of the chart shows the range 
to be 009°T and the variation to be 15°W. If the ship's course is 026°psc, what is the deviation for the 
present heading? 

A. 2°W 
B. 2°E 
C. 1°W 
D. 1°E 
 
Correct answer: A 
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5. You are taking a time tick using the 1930 signal from Rio de Janeiro, Brazil. You hear the preparatory 

signal "CQ DE PPE" repeated several times followed by a short dash (0.4 sec), 60 dots (0.1 sec 
each) and another short dash. At the beginning of the last dash, the comparing watch reads 07h 30m 
08s. When compared to the chronometer, the comparing watch reads 07h 31m 48s, and the 
chronometer reads 07h 32m 16s. What is the chronometer error? 

A. 0m 36s fast 
B. 0m 28s slow 
C. 0m 08s fast 
D. 1m 40s slow 
 
Correct answer: A 

6. You swung ship and compared the magnetic compass against the gyrocompass to find deviation. 
Gyro error is 2°W. The variation is 8°W. Find the deviation on a magnetic compass heading of 022°. 

 
 
A. 1.5°E 
B. 0.5°E 
C. 0.0° 
D. 0.5°W 
 
Correct answer: C 

7. You are underway on course 241°T at a speed of 18.2 knots. You sight a daymark bearing 241°T at a 
radar range of 3.9 miles at 1006. If you change course at 1009, what is the course to steer to leave 
the daymark abeam to starboard at 1.0 mile? 

A. 222°T 
B. 218°T 
C. 257°T 
D. 260°T 
 
Correct answer: A 
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8. You are underway on course 106°T at a speed of 15.3 knots. You sight a buoy bearing 109°T at a
radar range of 3.6 miles at 1725. If you change course at 1728, what is the course to steer to leave
the buoy abeam to port at 0.5 mile?

A. 100°T
B. 117°T
C. 120°T
D. 125°T

Correct answer: C 

9. While on a course of 138°T, a light bears 14° on the starboard bow at a distance of 8.6 miles. What
course should you steer to pass 3 miles abeam of the light leaving it to starboard?

A. 141°T
B. 135°T
C. 138°T
D. 132°T

Correct answer: D 

10. On 9 November 2023 at 0130, you are inbound at Charleston Harbor Entrance Buoy “10” (ACT6611).
Your vessel will transit 15nm and make good 10.0 knots to a berth where the nearest tidal current
station is ACT6706. What will be the direction and velocity of the current as you approach the dock?
See illustration D058NG.

A. 0.2kts at 280°T
B. 0.6kts at 172°T
C. 0.2kts at 104°T
D. 0.6kts at 335°T

Correct answer: D 
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D058NG 

Adapted for testing purposes only from National Oceanic and Atmospheric Administration (NOAA) 

Current Predictions, 

https://www.tidesandcurrents.noaa.gov 

Further reproduction prohibited without permission 
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